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T
375.20 m? = =
_.'-'-.--;l _ ||
ETAX 2 ————
[ ]
7101 EQOHOCTAEH A. 36.12 = ==
— —
7102 TPUCTAEH Ar. 86.73 =) ==
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ETAX 3
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ANAPTAMEHTUM TWIN ETAX 6 HAO K.K. 29.50 ETAX 6 HA K.K. 261.52
Tvr: BEPOW: 510.50 m? 2 607.60 m?
[OBYCTAEH ATl. 22
MAPKOMECTA
EQHOCTAEH Al. . 3M
ETAX: TIN: EPOW:
TPUCTAEH AI. ETAX: NMoLL;: (m2)
ETAX 1 NMAPKOMECTA 38
YETPUCTAEH AM. ETAX 1 412.00
ETAX 1 NMAPKOMECTA VHB... 2
40 20 412.00 m?




	NESEBAR_Архитектура_ИП_01 СИТУАЦИЯ
	NESEBAR_Архитектура_ИП_01 СИТУАЦИЯ

	NESEBAR_Архитектура_ИП_02 СИТУАЦИЯ
	NESEBAR_Архитектура_ИП_02 СИТУАЦИЯ

	NESEBAR_Архитектура_ИП_03 ЕТАЖ 1
	NESEBAR_Архитектура_ИП_03 ЕТАЖ 1

	NESEBAR_Архитектура_ИП_04 ЕТАЖ 2
	NESEBAR_Архитектура_ИП_04 ЕТАЖ 2

	NESEBAR_Архитектура_ИП_05 ЕТАЖ 3
	NESEBAR_Архитектура_ИП_05 ЕТАЖ 3

	NESEBAR_Архитектура_ИП_06 ЕТАЖ 4
	NESEBAR_Архитектура_ИП_06 ЕТАЖ 4

	NESEBAR_Архитектура_ИП_07 ЕТАЖ 5
	NESEBAR_Архитектура_ИП_07 ЕТАЖ 5

	NESEBAR_Архитектура_ИП_08 ЕТАЖ 6
	NESEBAR_Архитектура_ИП_08 ЕТАЖ 6

	NESEBAR_Архитектура_ИП_09 РАЗРЕЗ А
	NESEBAR_Архитектура_ИП_09 РАЗРЕЗ А

	NESEBAR_Архитектура_ИП_10 РАЗРЕЗ Б
	NESEBAR_Архитектура_ИП_10 РАЗРЕЗ Б

	NESEBAR_Архитектура_ИП_11 ФАСАДА ЮГ
	NESEBAR_Архитектура_ИП_11 ФАСАДА ЮГ

	NESEBAR_Архитектура_ИП_12 ФАСАДА ИЗТОК
	NESEBAR_Архитектура_ИП_12 ФАСАДА ИЗТОК

	NESEBAR_Архитектура_ИП_13 ФАСАДА ЗАПАД
	NESEBAR_Архитектура_ИП_13 ФАСАДА ЗАПАД

	NESEBAR_Архитектура_ИП_14 ФАСАДА СЕВЕР
	NESEBAR_Архитектура_ИП_14 ФАСАДА СЕВЕР

	NESEBAR_Архитектура_ИП_15 ТАБЛИЦИ
	NESEBAR_Архитектура_ИП_15 ТАБЛИЦИ


